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N 2,796 2,431 | 298 [ 1,784 2, 654 2,570 | 297 [ 1,749 2,413 2,580 | 280 | 1,713
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BERE - REMR RECCEE 430 17 3 64 454 126 3 64 441 146 3 65
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= Z0fth HHIE (BT LRV iR 1,744 1,672 1,526
DEFYRRE 2 3 11 2 6 48 3 3 11
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= 0 66 40 | A 146 0 A8 [ 50 [AnT 0 38 61 | A58
DISEE (2023FE) DH6ERE (2024FFE)
15 25 35 18 25 35
S 3~5 3~5 0 | 1-2[3~5 3~5 0 | 1-2
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I, 2,314 2,500 | 285 | 1,683 2,014 2,563 | 252 | 1,695
(DT, @2.5%) | (47.6%)| (22.3%) | (55.4%)|  (39.5%) | (50.3%)| (21.6%) | (59.5%)
(45. 6%) (48.5%)
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REM 2,415 | 331 | 1,32 2,421 | 328 | 1,329
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RETERRE MR 5 1 46 15 4 55
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